
Solution for ELG 3120 Assignment #3 
 
2.3 Let us define the signals 
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      By replacing with m in the above summation, we obtain k 2+
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        The output is plotted below: 
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2.6 The solution is 
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      Replacing  by 1k − p , we have 
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      The output is plotted as following: 
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(a) The desired convolution is  
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The output is plotted as follows 
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(b) The desired convolution is 
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And this can be written as  
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The output is plotted below 
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(c) The desired convolution is 
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The output is plotted below 
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(d) The desired convolution is 
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The output is plotted below 
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(e) The desired convolution is 
( )x t  periodic implies periodic. We only give one period.  ( )y t

For 1
2 2
t− ≤ ≤

1  we have 

( ) ( ) ( )
1

22
11
2

11 1
4

t

t
y t t d t d t tτ τ τ τ

−

− −
= − − + − + = + −∫ ∫  

For 1
2 2
t≤ ≤

3  we have 

( ) ( ) ( )
1

22
11
2

71 1
4

t

t
y t t d t d t tτ τ τ τ

−
= − + + − − = − +∫ ∫ 3  

The output is plotted below 
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2.29 
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